S
L

o(d dxy) (cmil\

i

0.954

Ratig:
=

o(d dz) (cm)‘

Ratig:

0.954

S
L

O%;IIII;IIII;IIII;IIII;IIII;IIIIi

=

ity

3 —' 01

it

3

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100 mIine)
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi

o(d o) (rad)

e

b

g

0 1
TP ® (PCA to beamline)

~107?

-

odp_/p

6@%iIIIIEIIIIEIIllillllillllilllli

Rati

0.95

H

------- s

TP CD (PCA to beamllne)

PCutOverlap



	Contents
	Page 1


